






Collect data
1. Measure the circumference of your tree cookie
2. Count the growth rings of your cookie
3. Collect data from all participants



Use the TI Nspire to enter the data
List A label with  “circumference”

List B label with “age”



TI instructions
1. New document
2. 4 Add lists and spreadsheets
3. Enter under column A circumference of all samples (in cm)
4. Enter under column B age (in years)
5. Be sure to label columns
6. Ctr doc
7. 5 Data and statistics
8. Click to put age on X axis and circumference on Y axis
9. Menu

10. 4 analyze
11. 6 Regression
12. 2 show linear
13.



What does the line of regression tell you?
Is the correlation strong?

Is it positive or negative?

Are there any outliers?

Is it fair to estimate the age of a tree with a circumference of 100cm? Justify your 
answer.



Why factors affect the size of the rings?
Consider growth conditions for trees….

Why would trees have variability in the size of their growth rings?



Logic and Reasoning
Consider how each of the following affects growth of trees in your environment:

Humidity

Water in soil

Competition

Wind

Nutrients in soil

temperature




